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INSTRUCTIONS TO @D@7
1. Immediately after the commencement of the Examination, you should check that this

Booklet does not have any unprinted or torn or missing pages or items, etc. If any
of the above defects is found, get it replaced by a Complete Question Booklet of the
available series.

2. Write clearly the Question Booklet Version Code A, B, C, D or E in the appropriate
space provided for the purpase, in the OMR Answer Sheet.

3. Enter the name of the Subject, Reg. No., Question Booklet version code and affix
Signature on the OMR sheet. As the answer sheets are designed to suit the Optical
Mark Reader (O.M.R.) system, special care should be taken to fill those items
accurately.

4. This Question Booklet contains 70 questions carrying equal marks. All questions must
be attempted. Each question contains four answers, among them one correct answer
should be selected and shade the corresponding option in the OMR sheet.

5. All the answers should be marked only on the OMR sheet provided and only with a
black or blue ink ball point pen. If more than one circle is shaded / wrongly shaded /
half shaded for a given question no marks will be awarded.

6. Questions are in both English and Kannada. If any confusion arises in the Kannada
version, please refer to the English version of the questions.

7. Immediately after the final bell indicating the closure of the examination, stop making
any further markings in the OMR Answer Sheet. Be seated till the OMR Answer Sheet
is collected. After handing over the OMR Answer Sheet to the Invigilator you may
leave the examination hall.
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1. 71% of earth surface is covered with

a) Land

c) Water

b) Air

d) Coal

TR0aD Foed o Jesten 71 T, went C3RFYTOOT BRBTITT 2

a) 3R

C) Qe

b) m¥

d) B9z

2. Minamata episode was caused by which heavy metal

a) Calcium

c) Lead

3. Acid rain is caused by
a) CO and CO,
c) SO, and NO,
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a) CO=
c) S

O, 2523 NO,

b) Mercury

d) Arsenic

&

b) @R

d) &350

b) SO, and O,
d) NO, and O,

b) SO, == O,

d) NO, %53 O,

SPACE FOR ROUGH WORK



CS - 542

‘ Wiy,

4 Marine pollution of the ocnan is due 10
a) Oil spills b) Washing of Cargoshps

c) Disposal of Hazardous Wasle d) All the above
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due to increase of gas in the atmosphess

 Climate change issue 15
b) Ozone

d) CO,

a) Oxyqgen
c) CO
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. Expanded form of VPD.

a) Vaccine Preventable Disease

b) Vaccination Preventable Disease
¢) Vaccine Preventable Disable

d) None of these

VPDob S700 8RT.
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d) onvy conue ©y,
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7. Which of the following is a vector disease ?

a) Tetanus b) Diabetes
c) Cancer d) Dengue
S TYTOBINGY IR $eL3INY0T TTEIS Sren 9
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8. The maximum limit of noise universally been accepted world wide for human

beings

a) 30— 40 dbs b) 75— 85 dbs

c) 95—-110dbs d) 15-20 dbs

T, TR, 0F BREWAN LR0ARIZNDT noT SoL3T TWT T,|RED
a) 30— 40 dbs b) 75 — 85 dbs

c) 95— 110dbs d) 15-20 dbs

9. The disease caused by Vitamin-B deficiency is
a) Scurvy b) Beriberi
c) Myopia d) Knee knock
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10. One of the steps taken to conserve wildlife is

11.

12.

a) Deforeslation

c) Habitats protection
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b) Poaching

d) Contour farming

Ganga Action Plan to arrest the degradation of river water quality was

launched in

a) 2001 b) 1986

c) 1872 d) 2012
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a) 2001 b) 1986

c) 1872 d) 2012

Which of the following is a communicable disease ?

a) Cancer

c¢) Hypertension
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c)

b) TB

d) Cardiovascular dissase
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13.7 ‘
he success of Social Foreslry Scheme depends mainly on

14.

15.

a) Awareness b) Public participation

¢) Local bodies d) All the above

gea ad = 2yend ¢ {
BOR, QRSN . TN oeed esmeonAT.

a) LoR) b) TFeE ITPNT,
€) ILead Zerisd d) So¢OT QTP
National Tuberculosis Research Institute is located al
a) Hyderabad b) Ahmedabad
c) Jaipur d) Bangalore
To& 0D FORTRN ToTRTM F603,8) Q8. MaRVMT
© -\ w wed
a) TToTT b) sxmwRT
c) ¥T d) PSengdedd

Maximum allowable concentration of fluorides in drinking water is
a) 1.0 mg/L b) 1.25 mg/L

c) 1.50 mg/L d) 1.75 mg/L
BE0I0T VOFYTLTTT r‘afé, T, 3000 1;:5"' €203

a) 1.0 mg/L b) 1.25 mg/L

c) 1.50 mg/L d) 1.75 mg/L
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16.

17.

18.

19.

LRI

Acid rain is any rain with pH

a) Below 5.6
c) Below 8.0 d) Below 7.0

b) Above 5.6 and below 6.9

R Sovakns ‘e’ s s8abw pH ~vib)
= . — -y et
-
c) 8.0 8o3 @ d) 7.0 o3 300
e

The thickness of the ozone layer is measured using unit of
a) Newton b) Joule
c) Dobson d) Decibel

b owt g o o ot ol ot e et e o o et g S eSSt & g4 X AL sae3n<y "‘-“—:.—: 9
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)
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C) WLrow Ty d) WS A e

Chipko Movement was held in
a) Uttar Pradesh b) Assam

c) Karnataka d) Kerala
uZpe WWTEOTL 2O TECWD 7

a) LUST J,TeT b) ©=Re

C) BmoFusg d) g:o¥

The coldest region of the atmosphere is
a) Troposphere b) Stratosphere
c) Mesosphere d) Thermosphere

. .
T~ e ANt = Y <
- e e ~ 5
a) LR, epeaclT b) motireAcT
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20. Chernobyl nuclear disaster occurred in the year
a) 1985 b) 1987 c) 1986 d) 1988
WRRFWE® TTZTs0 S0C02 03RS TTETE) T3t 7
a) 1985 b) 1987 c) 1986 d) 1988
21. The following does not transmit HIV
a) Sharing needle b) Mosquito bite
c) Blood transfusion d) Breast feeding
T3 IINT CBRTTOOT e, 0. TTROL ?
a) 5,533,360 TRWNRY =TOHYE b) Ze¥ny ses
C) T% winTwd d) ToerdtoNg
22. High level of radio active waste can be manage by
a) Composting b) Store indefinitely
¢) Incineration d) Neutralisation
QETELLY T2, . TRONY ITFIHD DS
a) TOOTREACTY b) aizéow:iesw"%
C) LETOTOT d) 828,353
23. Ozone depletion was first observed in

a) Arctic region

c) Southern Hemisphere
L.0oeT $er3e80R) WPTO WodNR 1Y noTee
a) e3F% =TT
(34 -’
C) TReemneseTr

b) Antarctic region
Northern Hemisphere
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24. Where is the headquarters of WHO situated 7

25.

26.

542

a) New York

c¢) Geneva

WHO = =, 0o 85000300 o35 Sno
a) @R, CoRE

C) ¢

10

h)

The diseases caused by the lead in humans

a) Asthma

c) Loss of memory

et [/ ~ g | —
LETD) TOTOTL AN YLOLLTRTEID GRIN
s
a) <Iaw
-
—
C) :.3;39.558 blelolc]
-

POP stands for
a) Persistent Organic Pesticides
b) Persistent Organic Plastic

c) Permissible Organic Pollutants

b)
d)

b)

d) Purifiable Organic Petrochemicals

- L -
POPc wzi\: onRT
e = .
a) THFDOLY SNFRT TARD
%] wd T~
- L ) o
b) TarRot SNFaE AT
e Med
— — — - =
C) TINFAWS SNFaT PO o8
~

LT

London

New Delhi

Pneumonia

Bronchitis
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27. The pH level of acid rain water js
a) 5.7 b) 4.0 c) 5.6 d) 6.0

©0, 3¢ L0 pH T mnem
a) 5.7 b) 4.0 c) 5.6 d) 6.0

28. The adverse effect of modern agricullure is

a) Water logging b) Walter scarcity
c) Water pollution d) All the ahove
SEONT D, TIONT ECZ‘ TOTOTONS 0TTemIT T

a) e e b) Q07 v

C) ZORRIT, d) edm avze

29. Itai-ltai disease in Japan caused by consumption of rice contaminated with

a) mercury b) cadmium
C) iron d) carbon
BT B, TORUWTIET YERCL-DEROW Fo00ECTN BRe0BITITT ©30D
WYS00 T0rRd00T SNhTET
a) ZoTos b) 89,83 0350
C) BUED d) como
30. Unani system of medicine originated in
a) Paris b) Iceland
c¢) Poland d) Greece
0300w =, Wc«,o:;: YUNZOTRT To,
a) @, 0% b) @xfen, om
C) oo, o6E* d) hex
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32.

33.

542 42- IR ETT

Richter scale is used to measure

a) Velocity of light b) Intensity of sound

c) Amplitude of seismic waves d) Wind velocity
085 IS 0F WEReRrd3T ?
. - -
a) Wz 3en b) Z5 2155
C) PREOTNY Liny I T d) my=en

The biological decomposition of organic wastes under controlled conditions is

Known as
a) Composting b) Sanitary land fills

c) Incineration d) None of the above
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a8 emmden d - .
C) wAILWILT ) M\J#M--ﬁ:‘w&- N St

Enrichment of nutrients in a water body leads to

a) Eutrophication b) Biotransformation

c) Biomagnification d) None of the above
2607 STONTY N SPETFCINY DALTTRT) CRJTE QBIREELTSS ?

pa— L -
ety e HoyiT T b AT T2 A
a) WOLS Ll «WT UWewadl30
- 3
- -
' — — p—— - <9
T T\ > d .—\Cg AT\ M\ £L50Y
C) o, WU Wl o \ oV AT LN
~ : - —~
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34. The maximum permissible limit of nitrates in drinking water is

a) 45mg/l b) 79 mg/ c) 100 mg/l d) 250 mg/!

a) 45 mg/l b) 79 mg/ c) 100 mg/l d) 250 mg/l
35. Is not responsible for ozone depletion.

a) Chlorofluorocarbons b) Lead

c) Fluorine d) Chlorine

36. HIV is transmitted through
a) Inter-course with infected persons
b) Sharing injection needles with infected persons
c) Infected blood transfusion

d) All the above

SPXCE FOR ROUGH WORK
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37. The Forest (Conservalion) Act, 1980 is not applicable to the following State.

38.

39.

a) Jammu and Kashmir b) Karnataka

c) Delhi d) Tamil Nadu

1980 T ©3rs, ToTErm 5ol B1 IWNT oo, 8 LT CFOY, ?
S ), w : ] « ™

a) =3 3 TR BT b) sTorug

C) \—_j::\) ) 3«.&)\1 oI

HIV is usually detected by
a) ELISA test b) Hybridisation

c) Gramstaining d) None of the above

el e T meq e — Y — | — )
TUT.D.0.0070 FoRLHLAEACAASST WP
<
= 5 - Al o —
-~ T~ - " 3 3%
a) ROJo OB b) e A
- o J
— L N g - —,
o — ~ ~ s
C) M, clsnonT d) SodT cdn[Yhue LY,

Black-lung is the occupational hazard to
a) Miners

b) Navigators

c) Pesticide applicator

d) Agriculturist

) -0 & STT BT20D *::So‘q_ffomucszcs
o - -
a) =& L, chned (Mrsmedscld ¢ f\’h‘)

.,-a_a -* -d ot
b) 2T, =, C3RI50Y.
~

'S

& N —— P e et et
C) 5 [PV Wl ) f.i:...aw'.l.aw\.-.luf.)

Y

d) 8& evdn, ennive)
<

)
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40. Ozone layer is present in

a) Troposphere b) Stratosphere

¢c) Mesosphere d) lonosphere

&
w-d g :.’7 i e e i e D A —r .
=3 ¥y Cldowd SOR0LY) LR TSy 2
- i P -
- .
LI LTRSS A et =
-~ < —— St e ek

a) L, e tA GOS0 b) ror L8 A CO00

O o ° P pa—" = - —_—

MR IATI Nauth tat > .
C) TREHCIT d) scnirencST

41. The Stockholm Conference of United Nations was held in the year
a) 1968 b) 1962 c) 1871 d) 1972

. s o
- - > - 2 -
oV by $7zf ~eri=—t T R e e ettt T et ettt T it et s -t |
VW"\E}WL'-' Cdnmald AIUT ooV’ MU N T IdbiTor bitons wiial wdnd dws mi s ddd e .
~NW < =
& 3

a) 1968 b) 1969 c) 1971 d) 1972

42. Which gas is mainly responsible for the Green House effect ?
a) Ozone b) Oxygen

o e e o e a2 m— a2 T g _—.-,,,.—h_ 9
CoRJ 2d LoV ULIT Showad Sunl) Lovsas Too oy Toutnoonll
T o

, QU — b = o =t
a g [N, S b e T

e — s -— = pr— d o — i — _,\.._...:__‘. _—
C) uu(lvva W oT @ Al Wil S0t T s

o ~o ~

43. Algal blooms appear in water due to
a) High pesticides b) Nutrient enrichment
c) More silt d) Industrial effluent

R et e et e e et T R at ot o et
TJ\D’JJ’_W,/C:M W) VFo SUYTL TuLty
B D g g ) m— e b —L 2. = 2 e=em
a) DU CCEITITTNR S¥AT T OER
3 w <
—p e O gk d o — ) T
2 2 ©~f = = oy m——
C) oL ~I ) “, \«6-.. i R OVE V)
7 o4 3]
s
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44. Chikungunya is transmitted by
a) Culex b) Aedes

c) Anopheles d) Housefly

.
— . o p— o — 7—1.—_‘1—4 9
WRES 0T, TooWwY v nw)tovidlelo wde.fw !
J
- O L
- .2 ’ 3~
a) .27 b) &=
U ~
— -~~~
o -~ ) IS
C) £ 4./;..:1—1 d b h

45. Medicine of quinine is provided by
a) Eucalyptus plant b) Aconite plant
c¢) Cinchona plant d) Money plant

2= - g‘_a..a_a_;- A e e .-.J—,--a-.- —In_r-' 9
CI4.097 Lovalpwur e vy O BT anee o
53 ~
. . "
DNee -, b (sE e 27 ALY
a) :4\VT\O :~'J-¢f.’-/ VLN e Yy v
(3
c 2 AEmo— — n o= d —aT —— agf
Al Tl tiy Jq./ o1 WY Y v

46. London smog occurred in the year
a) 1952 b) 1986 c) 1962 d) 1972

ATE=S e =
CCTm LNV D)

a) 1952 b) 1986 c) 1962 d) 1972

l.

7—' AN e — 9 9
A o it SIS YA "Juu.im.l"Jw |

—

47. Chlorine added to water acts as a

a) Disinfectant b) Absorbent

c) Coagulant d) None of the ahove
c-CON SRLOT CH2 TOLTRN LTMITT 9
a) XReC3IVTUS b) &eddnedz
.
C) T[YMLITT TR (Eptemo o) d) 3¢z canun vy
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48. The United Nations Conference on Human Environment was organized at

a) Rio de Janerio b) Paris
c) Stockholm d) New Delhi
SRTT TOITT LOT> ok i ORIV X 0§ BaRIEITENG 7
a) oclntanddodne b) =, 0%
c) DRSS d) I3 339
49 gives an empirical value to water quality and is a parameter for

the organic matter present in water.

a) BOD b) COD c) DO d) Hardness
ReOR Tereshig T, clathE TG, SR DRSS S0 VLT MITCDT TmTF LT
Lo

a) BOD b) COD c) DO d) ruzs

50. Ozone layeris a

a) Primary pollutant b) Secondary pollutant

¢) Hydrocarbon d) PAN

Lojees ITCI

a) TR,TE :J‘.‘J—Z'VEZUE' (& b) IRF, 08 "’...:::‘):,_“Gim.t
C) I 3R muFT d) PAN
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51.

52.

53.

54.

542 -18-

Amoebic dysentery is caused by
a) Virus b) Bacleria

c) Prolozoa d) None of the above

o
< — 2 -
a) ST b) 30,8 F003%
g PRX)
=~ : L e AANTSTER SO
C) T, ctinexeeo d) 00T IRTJTR B¢

Dialysis treatment is related to malfunctioning of
a) Thyroid glands b) Kidney

¢) Lungs d) Pancreas
— — - o — — e O\ O = - o o o D
CeTs cInT A DT, 2Rvmeien BCRUAT JRBLNESD ?
o o <
— g— — —_ -— p—
a) o5.Ceclon® N,oND b) oS, 0B
J, J
c) ToxdneeT d) Soedrecedsoon

Night blindness is due to the deficiency of
a) Vitamin - B b) Vitamin —C
c) Vitamin — A d) Vitamin—D

What diseases caused due to deficiency of insulin ?

RN

a) Diarrhoea b) Diabetes c¢) Cholera
a= O 2RTICIeT euctmos TNt
a) w@Wolbeiw b) ZolnRWL3s’ c) 58D d) 09T

d) All the above
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55. The organ affected by spondylitis

a) neck b) kidney c) lungs d) heart

a) A b) Sarg,w0nd 0) ZoRgRes d) TTod

56. The largest contributor of oil inlo the sea is
a) Qil spills from tankers
b) Qil reaching the ocean from land
¢) From off shore wells

d) None of the above

- — -— - —_— =
b) PAT,TeTTY, eI TNoSDY XeddW 3o
«©
e — S P g R PR | - a, O D
C) TONTREST S & WRINTCT YVOLINIR ARCTIT

57. The first preference is to be given as far as the management of plastic waste is
a) Recycle b) Reuse

c) Reduce of usage d) None

5 0l T e e o i () oy ) — 4
TRAT T2, &, MY CDFBRODY, BRELITE BATOROD FOX

(8] o
a) JToo[IFD b) DFwFds
C) WY T,=een 58S d) cIngan e
r o
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58. The average life expectancy around th

(51
o

. The disease which wiped off one third of the populatio

[EET ey

e world is currently
a) Decreasing b) Increasing

¢) Not changing d) Stabilizing

! g B g T Ty Ay o

SRETUN N E U IIT e s e e e T

. 2 cnivind 2 b)
d -

- Ao ‘-\\2‘~~ [ st
—~y = K = .
— %
d) Coul N \JU‘JCJ\.«J

&) eiEtEs g
’ R L S -
2.

n in Europe in

127 Century is

a) Cholera b) Plague

¢) Meningitis d) Diphtheria

o L —] - PR

o 2 2 - o e — g, ‘f\U n 8 o~ -~ -
e e — o — " o — T v = - . ~ o

T N N O A e ol e [ O] W] G ISEW) 2: )

=

— T T o —
oY § et te By

R ot
a) TR b) i

- < 9 [ = o —
c) o8 v d) 3200w

The objectives of integrated child development services are

a) Immunization b) Health checkup

c) Pre-school or formal education d) All the above

e AT et utiatet D pmn o
B A e o = R
Vo - .-

—— e, T e == mm e ey b o= o~ o e, oy e
a) P7eS oS AT TolOF B,x02N%Y STRMN. IToNS

TR d) =09z ou=

” o) £ S NeY

C) Pt g v e L NS V] o~ el
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[T, .
61. Environment Protection Act was enacled in the year,
a) 1974 b) 1998 c) 1986 d) 1982
O o 57>c,\"x)r30br‘i;‘ QAR JHFEE o 0009 9
a) 1974 b) 1998 c) 1986 d) 1982

62. Due to incomplete combustion of fucls from petrol engines the gas liberated is
b) Carbon monoxide

d) Sulphur dioxide

a) Carbon dioxide
¢) Nitrogen dioxide
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63. Which of the following is a green house gas ?
b) Methane

d) Sulphur dioxide

a) Nitrogen

c) Oxygen
QRNYY aIRPD TADTOE es00ng 9
a) TowTt b) e
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64. Which of the following is not a fossil fuel ?
a) Coal b) Wood c¢) Petrol d) LPG
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£5. The disease caused by drinking contaminalio

: c) alariz d) Anem;
a) Scurvy b) Typhoid ¢} Maana ) Anemig
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85. “Save Forests, Save People” campaign was initiated by
a) Baba Amte b) Anil Agarwal

¢) Medha Patkar d) Amrita Devi
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67. The standards followed for drinking water quality are
a) ISI b) ISO
c) BIS d) All the above

A lonh b rndbal T e wE ot i P G S ) P
S bl TN S d O AT b ’cy Wt COASW Cdwrd
. ¥ v

- &

a) ISl b) 1SO

c) BIS d) =l -
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68.

69.

70.

Kyoto protocol is focused on

a) Wetland conservation

b) Climate change

¢) Hazardous waste management

d) Biodiversity management
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Whooping cough is medically known as
a) 18

¢) Pneumonia

b) Pertusis
d) Allergy
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In which State of India Siddha system of medicine became popular ?

a) Tamil Nadu
c) Andhra Pradesh
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b) Kerala

d) Karnataka

b) dcov
d) gZoFtis
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